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_‘L(Probability density function) J‘ LJ[? C’/dl;’!vg d(function) J‘ lﬁ.l(@:f f,é = (1

Ax, 0<x<5
fx) = _
A(10—x), 5<x<10
?é ")"’ S Exponential Curve L5l = (Points) L@Z&,}Q
X 2.70 2.87 3.26 3.68 3.89
y 3.86 4.2 5.1 6.3 7

ikl S (Mental Ability) LT (575,91 (Physiological Test) &bl 122 U163
?ié (}1’” Spearman’s rank Coefficient of Correlation -‘L&/ 53

Students A B C D E F G H 1 J k 1
PT 56 42 72 36 63 47 55 49 38 42| 68| 60
MA 147 125 160 | 118 | 149 | 128 150 | 145 | 115| 140 | 152 | 155

' L AR A (Side) s LKL L e f(Cards) 3640 e a Lo ) P (4

S e K1 1 6l s K 3K U 88 & EABlack) 6 Eauin L5k

i (Select) 55065 Randomly).,s# # —e (Equally likely) ULEC »62_/(Select)
¥l I L3S o2 (Probability) J&17 sl F LI LKL F
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§F 17857 L 1 t(Runs)Z 214511261042 & Jt(Innings) F 15857 et s S JF1(6
_é")‘”’/bﬁjﬁ 2 géu’l}'%l@;ngg’ﬂ@Variance s(Mean)

P su:uG*'J'/?-+o.3 ' (Probability) JI6» (Pass) — € (Students) ,ll’uﬁu@*uffm
S S f.é (}L’” (Probability)JL:"l Z/ J&16Binomial Distribution? d/ 'y /‘
(Atleast D 3frf (@ Fllis b)

(at most 5) Saslje—mslJ (a)

¢ Z IS QU

- (Probability mass function) S L&’C‘:f d@’lgj_[, (Discrete random variable) &~ . v /:,’ 2% (8
p(x < k) > 056 b edfc FE Kb edal) Vbt

X 0 1 2 3 4 5 6
P(x) a 3a 3a 7a 9a 1la 13a
02 (fit) o P4 UPoisson Distribution /J,«?ZQJ( ©
X 0 1 2 3 4
f | 180 | 92 |24 3 1

35000 (Mean) 262§ UNormally distributes »«(Life) s US(Tire) 26 $6100052./7 3(10
S éi (}1’” JPl?‘LSOOOmileS:(Standard Deviation )l #1 (§zssimiles

Ll 540000 miles 4130000 miles & 1§ 76(a)

Stk 40000 miles — U5 7E(b)

4/o)£’§fipt’”dl?l;(ln working condition)‘auﬁ:)bJL/}{uﬂ'{M Z40000 miles/’ﬁ’é/ﬁ(c)
§/ worl)6—F10000 miles

(”3) )
(3x10=30) -‘agf:?ﬁ}l() L p a2 L et 33 e ety S5 om: Jir

2" (Median) :-s'(mean) +4+§ (frequency distribution table)Jsx st 3.0 (11
_f{;f (}’” Inter Quartile Range ss/(mode)

Marks 15-30 | 30-45 | 45-60 | 60-75 | 75-90 | 90-105

No. of Students | 8 26 30 45 20 17 4




«coefficient of correlatione/l s < Security pricesss/ Annual Dividends e 14 J duyé’id,}( 12
fié (JL’“‘ Annual Dividends £/, JL*:"!E/regression line b,wb*?ié (}1”‘ Two Regression lines

¥ Security Price =105

Security Prices Annual Dividends (in Rs.)

(InRs.) 6-8 8-10 10-12 12-14 | 14-16 | 16-18

130-140 -- -- 1 3 4 2

120-130 --

110-120 --

100-110 --
90-100 2
80-90 3
70-80 2

PP WINW

SN

$31$195%L et s/ U1-E ENormally distribute 34T § s/ 51,4110000 (13
-9»}&]4%)/832&,4TJ)!}!5%J//}|4,9)&];%:/668&,47

(Standard Deviation) / 13¢5 (Mean) s +K-1(a)

&,ofﬁ/r_(d/)l/'l(Richest )7 2£1100(b)

& o QuTwliewl il HiPoores)l £ 100(c)

27 (With example) J&* >+ (Method) <3 € Testing of Hypothesis (14

_:Z;;;(ﬁt) b/i}'}’/X = a + bt + ct?*(Parabola) c«bl/df/cuu@)yZQJ (15
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